[ Efficiency vs vertpos |
~ 0.05

9,045 +-o-veeieeeeen SRR RRIE e
2 : : :
U e e
(8] . . .
©.035F - voeenieeeeeee e o
3 : :
£ 0.03F oo o e
0,025 ++oeesrienneeens e 1 ------------
0.02F -+ P B e
0,015 -+-eeeeiesensenens G § [ TR
0.01 :
0.005

m | Lt
o 1@ f F o
T 4
R FHAEH
1] R SRR E S S o A

1 10 0?
TP vertr (cr%)

—s— DQM_VUUUI_RUUUUU000T _Global —_MKFTOnginal_—RECO
—— DQM_V0001_R000000001__Global_mkFitNewDeti_ RECO
|:Efficienc —«— DQM_V0001_R000000001__Global_mkFitNewDett33_ RECO

—— DQM_V0001_R000000001_Global _mkFitNewDetNoF_ RECO
~ 0.05

9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005
.0

Ratio

1.

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.01
>

80.009
5008
%.007
>

3.006
@

£.005
(]

0.004
0.003
0.002

T
u
"

........................

0.001H

o 10 L [

R TR
1 - R R -

g . e P

0 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


